PRoe -4

=507, W= 20, U =300
LALATVE VELO(Ty = (6 5
ct) MOD  Ugear (F Womad  Dives  RAET

g i Vs
[ O

\TZ:{é_JB

O = w-z_[_’(l(o“'u;)] t ((/J1 +(/J3>U_3
Ozh/éw‘z_ + t/‘)?-\); + ((/‘)r +L")’>’DU}

U3 (W) + W, U5 ) = 16 L

T = i L é(!20> B '3,2%6———7‘-
(Wi +W, H/\J3> (lfwuzmwo)

MM DIVES SECo WD Uy Uy
B o]

>U_ (,.L>o +((,J3 U

([")l*’w.%)(@)L = (er/\jot + (ws)‘—'@?)i




T=0y + Uy ¢ ()i =(0)E + ()

Uiz 16 -5
(UJ¢+U3>U;, = U (!(o-—U) W3 U
-‘(U +w3>\); '((/Jﬁb\)s)ug AN

.Jé(/\)l - (LJi tL)U:
(W, W)

V' =
6(“0’0> (150 +300)(32) |_
(G0 +340)

f

-

w o bives ©psT
LY
o]

““‘763
B
0=(5+3)0 +(5)0

0 = (L, «UsX-U3) 2 + (W U)2
(6)¢ =C0)2 + (6)l

)

- Vs Ui
\T\:{(Dwo—g

0 = (W +13:)(=03) + 1, (
- +(A)>U'3- (61,




l l

PROB, _(4-4 conT,

IéLJ, o {é([<50>

U - . leaw
’ (W +Wor W) (180 + 120 + 300

LM DIVES  FECOND :

/

A- ] I-‘D Us
LJ [V ]

5)0 = (5)0 1 (3)0;
(uy_+(/\)3)(‘03>c, :([/JLY‘-UE>2 +(wg>(o;“)2f

~(W,+U5) U5 == 1,05 + W U3

U = + By 0 (m0)2 = (52 +(~)
Jz 6- U5

~ (U 4 05) Uy == Wa (16 -U3) + L U3
Iéwz, -(L,\)LH,JS)U; e (LJ; + UL> U’.":%/

Q’:: LG (/\)L = ((,\\7_4'(/\'3)0;
r (UJL""(/J3>

o - J6(120) - (lwww)@fﬁ)[ e e

(300 + (20)

= ¢4g

-




